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FREARIRAL
i) T F o ME B R K % L8 15BERMAE | 15~645% | 655521 L
# 18,672 | 61,213 | 30,601 | 30,612 | 14,132 | 41,393 5 688
N T 147 2,102 1,071 1,081 269 1,492 341
r % 156 553 271 282 81 3517 115
il Fr 93 315 160 155 34 223 58
= ) 17 10 33 37 6 48 16
A T ®H — T H 146 423 210 213 86 317 20
A F ¥ Z T H 177 605 300 305 130 438 37
A F E = T H 267 845 422 423 202 596 AT
A F E M T H 275 963 479 484 209 683 71
b ] 209 141 378 363 121 474 146
72 2N 1,172 3, 583 1,814 1,769 633 2, 492 458
N o B OB OE X X X X X X X
Mok 4 — T H 195 696 349 347 139 520 37
N od Z T H 55 176 88 88 46 114 16
N dt = T B 60 223 114 109 51 160 12
N oot BT H 164 568 287 281 119 407 42
N S | A2 N B = 118 416 200 215 100 278 38
N &M — T H 187 673 330 343 182 437 | 54
IN WK B OB Z T H 45 162 83 79 65 97 0
N & B = T H 105 359 184 175 97 244 18
IR — T H 126 455 225 230 115 314 26
MK R T ZTH 121 467 232 235 140 311 16
IR T EZTH 34 125 63 62 37 87 1
N # 1,853 5, 444 2,692 2,752 706 3,768 970
iz 2 58 235 114 121 21 172 42
=) i, 52 223 101 122 38 132 53
¥ fE 119 425 227 198 67 2170 88
oo gS 12 31 19 12 4 22 5
% il il 17 51 28 23 4 34 13
i el 256 1,004 515 489 124 635 245
mooE & o | X X X X X X X
= i 53 217 117 100 25 147 45
i & # H 34 89 51 38 13 60 16
= [ # H § 14 8 6 1 13 0
I A 36 132 64 68 19 | 91 22




a3 NI OB AR, AERR(3 XM BIAL - HIET §S)
) T F % | HE BB K 5 2 15E%RM | 15~645% | 6521 E
N B & — T H 628 1,999 995 1,004 569 1,339 91
N B & Z T H 408 1,327 663 664 424 874 29
N B B = T H 484 1,726 879 847 609 1,067 50
N B2 & M T H 388 1, 841 6838 653 421 881 39
i b 76 325 168 157 82 212 81
K B = T H 40 114 55 59 21 81 12
¥ oo K A — T H 99 323 159 164 45 253 25
AKX oX - T H 275 1,019 513 506 303 673 43
A X =Z T H 400 1, 447 663 64 3717 992 78
KX = T H 204 689 343 346 75 573 41
AKX ™ T H 402 1, 345 647 698 184 1,054 107
Ao H T H 168 561 276 285 112 402 A7
AKX oX KX T H 2173 998 495 508 240 710 48
I [k 66 212 133 139 38 166 68
=] i 51 234 125 109 29 140 65
it = 161 615 311 304 90 401 124
A i 149 603 304 299 98 376 129
i & I 51 199 98 101 32 121 46
% & & i 17 64 35 29 9 38 17
m % - T H 697 2,062 1,045 1,017 528 1,394 140
wmoo% - T H 1,015 2, 965 1,473 1,492 122 2,053 190
mo% = T H 185 161 75 86 11 150 0
B — T  H 219 708 363 345 216 441 51
B oo =Z T H 531 1, 843 918 925 580 1,198 65
2 o = T H 582 1,926 924 1,002 528 1,291 107
s &t — T H 400 1,358 686 672 445 826 87
= U = 219 577 309 268 171 399 7
& & = T H 102 341 174 167 91 11 39
5 & @ T H 417 1,628 820 808 430 1,106 92
5 &£ H T H 287 983 509 474 177 708 98
m= f& N T H 495 1,713 851 862 404 1,166 143
=} S 377 1,426 694 732 205 930 291
wm oo K — T H 313 1,063 518 545 372 667 24
w oo B O T H 279 906 448 458 321 565 20
Mmoo K/ = T #H 683 2,339 1,175 1,164 884 1,426 29
IR = T H 212 641 312 329 212 416 13
R rq T H 311 859 441 418 230 574 55
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Hr T F AN - R H 7 158 | 15~645% | 65521 E
' nd 29 119 60 59 12 81 26






